
Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Multiplique por potências de dez (número ausente)

4, 958 × ________ = 49.58 4, 015 × ________ = 40.15

9, 952 × ________ = 99.52 6, 619 × ________ = 661.9

3, 237 × ________ = 3237 7, 325 × ________ = 7325

9, 594 × ________ = 959.4 3, 265 × ________ = 3265

3, 259 × ________ = 32.59 5, 951 × ________ = 5951

7, 347 × ________ = 734.7 6, 913 × ________ = 69.13

4, 068 × ________ = 40.68 5, 413 × ________ = 54.13

7, 644 × ________ = 7644 5, 934 × ________ = 59.34

3, 738 × ________ = 37.38 3, 046 × ________ = 30.46

9, 186 × ________ = 91.86 2, 481 × ________ = 248.1
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Nome: 　　　　　　　 Encontro: Data: 　　　　　　 Pontuação: 　　　

Multiplique por potências de dez (número ausente)

4, 958 × 10 = 49.58 4, 015 × 10 = 40.15

9, 952 × 10 = 99.52 6, 619 × 100 = 661.9

3, 237 × 1000 = 3237 7, 325 × 1000 = 7325

9, 594 × 100 = 959.4 3, 265 × 1000 = 3265

3, 259 × 10 = 32.59 5, 951 × 1000 = 5951

7, 347 × 100 = 734.7 6, 913 × 10 = 69.13

4, 068 × 10 = 40.68 5, 413 × 10 = 54.13

7, 644 × 1000 = 7644 5, 934 × 10 = 59.34

3, 738 × 10 = 37.38 3, 046 × 10 = 30.46

9, 186 × 10 = 91.86 2, 481 × 100 = 248.1

www.snowmath.com

https://www.snowmath.com

